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énoncé

ABCD est un carré de centre O et I est le milieu de [BC].

A B

CD

O I

=

=

L’angle orienté

(

#   »

CA,
#   »

DA

)

a pour mesure :

a)
π

4
b) −

π

4
c)

5π

4
d) −

3π

4
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correction

Comme
#   »

DA =
#  »

CB,
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correction

Comme
#   »

DA =
#  »

CB,

alors

(

#   »

CA,
#   »

DA

)

=
(

#   »

CA,
#  »

CB

)

,
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correction

Comme
#   »

DA =
#  »

CB,

alors

(

#   »

CA,
#   »

DA

)

=
(

#   »

CA,
#  »

CB

)

,

donc une mesure de

(

#   »

CA,
#   »

DA

)

est égale à
π

4
,
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correction

Comme
#   »

DA =
#  »

CB,

alors

(

#   »

CA,
#   »

DA

)

=
(

#   »

CA,
#  »

CB

)

,

donc une mesure de

(

#   »

CA,
#   »

DA

)

est égale à
π

4
,
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correction

Comme
#   »

DA =
#  »

CB,

alors

(

#   »

CA,
#   »

DA

)

=
(

#   »

CA,
#  »

CB

)

,

donc une mesure de

(

#   »

CA,
#   »

DA

)

est égale à
π

4
,

réponse a).
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